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HZNMPH
1 10 C1-6 S 16 95,0 _TskoMP Kobza 4431|B 555 I:eowsky
C2-2 S 3538 Riha
5> 110 c1-6 |s3701 94,0 Zacal C10-3 |85-21 Stastny
C5-4 S 391 Hulkltb5P  [zacal
¢ C1-2 42 HUzNTs33BP|Bartos
3101 c1-6 | sas1 95,0 Zacal S UzNTs33 artos
C6-2 70-22 Zacal
4 lo1 c1-6 |s3739 95,0 Zacal C10-3 |85-21 Zacal
C11-4 |S32347 Zacal
g i - At1s5Km3P g i
5 |10 S1.6 S 80 95,0 A-s354--P KSenzakovic¢ |S 3-4 S 245 t1s5Km K3enzakovi¢
25 € S4-5 S 253 Ksenzakovi¢
g i - At1s5Km3P g i
6 110 S1.6 s 81 93,0 KSenzakovic¢ |S 3-4 S 245 t1s5Km K3enzakovi¢
25 € S4-5 S 253 KSenzakovi¢
g i - At1s5Km3P g i
7101 $1.6 S 82 94,0 KSenzakovic¢ |S 3-4 S 245 t1s5Km K3enzakovi¢
25 € S4-5 S 253 KSenzakovi¢
. 282,0
sucet kol.
3 10 $2.6 $ 30 93,0 Stoklasa C2-4 S 3076 Zavodny
S3-5 $361127 Stoklasa
9 o1 $2.6 $35 95,0 At1158.map Stoklasa C2-4 S 3076 Zavodny
S3-5 $361127 Stoklasa
10lo01 $2.6 $36 94,0 Stoklasa C2-4 S 3076 Zavodny
S3-5 $361127 Stoklasa
iy 282,0
sucet kol.
11110 $2.6 S a7 94,5 Stoklasa C2-4 S 3076 Zavodny
S4-3 S413 Stoklasa
12110 $2.6 S 48 93,5 Stoklasa C2-4 S 3076 Zavodny
S4-3 S413 Stoklasa
94,5 Stokl C2-4 S 3076 Zavodny
13 (1.0 s26 | sag | 7" oKlasa avocny
S4-3 S413 Stoklasa
. 282,5
sucet kol.
95,5 Pavelka S1-5 [S70-44 ___KMP Ing. Mikula
1.0 C1-6 | S114 -
14 S 37 Simecek
01 c1-6 |s3052 95 Pavelka C1-5 S 140 HZNMP Pavelka
15 S3-4 S 60-02 Blasko
94,5 Pavelka C12-4 |S499 HZNSBMP Zbranek
16|91 €1-6 | 5111 C1-5 |S141 Pavelka
01 c1-6 | s112 95 Pavelka C12-4 |S499 HZNSBMP Zbranek
17 C1-5 S 141 Pavelka
01 c1-6 | s113 95,0 Pavelka C12-4 |S499 HZNSBMP Zbranek
18 C1-5 S 141 Pavelka
284,5
sucet kol.
96,0 C12-4 |S499 HZNSBMP Zb k
10 €36 5293 , Pavelka rane
19 S3-4 S 60-02 Blasko
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20101l k| c36 | 5205 95,5 Pavelka C12-4 |S499 96,0|HZNSBMP Zbranek
S3-4 S$60-02 | 95,5 Blasko
21101 c36 | 5206 95,5 Pavelka C12-4 |S499 96,0|HZNSBMP Zbranek
S3-4 S$60-02 | 95,5 Blasko
stcet kol. 287,0
22110 516 $12 95,5 ABSEMP Sedlak S$3-5 $70-93 | 96,0 Ing.Moslfo
S3-4 S 342 95,0 Sedlak
2311.0 $1.6 513 94,5 ATS.map Sedlak $3-5 $70-93 | 96,0 Ing.Moslfo
S3-4 S 342 95,0 Sedlak
24101 $1.6 $15 0,0 Neklasidfikovan Sedlak S$3-5 $70-93 | 96,0 Ing.Moslfo
S3-4 S 342 95,0 Sedlak
sucet  kol. | 0,0
25101 c1-6 |s3043 95,0 Ap Maj?rsky Cci1-4 S3096 |95,0|HNTSBMP Beranek
Beranek C1-3 $3277 |95,0 Beranek
26101 C1-6 $23 95,0 A-MP M,ajersky C2-4 S127 95,0|HzNMP Kobza
Zévodny |C2-4 |S3071 |96,0|HZNTVMP | Zavodny
27101 C1-6 $91 94,5 AKMP M,ajersky C2-4 S127 95,0|HzNMP Kobza
Zavodny |C2-4 $3007 |95,0 Zavodny
01 ca6 |s3a60 95,5 A dT—-MP M’ajersky C1-5 S 3408 |96,0|HUZNTs3MP Skola¥F
28 Zavodny [C2-5 S134 95,0 Zavodny
01 S$3.6 S 157 93,5 Majersky [S 5-5 37-52 94,5 Sliacky
29 S1-5 S 142 96,0|ATs8KMP Majersky
01 s16 |s7053 94,5 _ kmp Majersky [S 2-5 S 219 96,5|AT-K-P Majersky
30 S 2-5 S 215 95,5|At8SMp7 Sedliak
31001 c16 | 5233 95,5 Zbranek S1-5 S42 95,5 Hvis¢
C1l-4 S$3716 |94,0 Zbranek
37001 c16 | s234 96,0 Zbranek S1-5 S42 95,5 Hvis¢
C1l-4 S$3716 |94,0 Zbranek
33 1.0 c26 | s237 94,5 Zbranek C1-2 85-1 95,0|KSNP Stast.ny
S4-2 S533 94,0 Ing. Mikula
34|10 c26 | 5238 94,0 Zbranek C1-2 85-1 95,0|KSNP Stast'ny
S4-2 S 533 94,0 Ing. Mikula
35 1.0 C2-6 S 241 94,0 Zbranek C1-2 85-1 95,0|KSNP Stast'ny
S4-2 S 533 94,0 Ing. Mikula
sucet kol. 282,5
36 1.0 c26 | s129 94,5 Sykora C1-5 S73 95,0|HUNM Sykora
S1-4 S$28 95,0|Hk1TMP Sykora
37110 c26 | s130 94,0 Sykora C1-5 S73 95,0|HUNM Sykora
S1-4 S$28 95,0|Hk1TMP Sykora
94,0 Ing. Barto$ |C3-5 $36104 | 95,0{zm3P Barto$
38 (1.0 Cl-6 |S3620
C4-5 S 30149 | 94,5|KTSm3P Meloun
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39 |01 c36 |s3733 95,0 Ing. Bartos |C2-5 $3708 |95,0{uTm2pP Bartos
C4-5 $30149 | 94,5|KTSm3P Meloun
40.101 c36 |s373a 95,5 Ing. Bartos |C2-5 $3708 |95,0{uTm2pP Bartos
C4-5 $30149 | 94,5|KTSm3P Meloun
4101 c36 |s3730 0,0 Vyluka Ing. Bartos |C2-5 $3708 |95,0{uTm2pP !3artos '
S5-4 S 70-35 | 95,5|KZNSP ing. Mikula
22 11.0 c36 |s3731 96,0 Ing. Bartos |C2-5 $3708 |95,0{uTm2pP !3artos '
S5-4 S 70-35 | 95,5|KZNSP ing. Mikula
23 110 C1-6 S48 95,0 | 1s11s5kMF Riha C3-4 81-25 95,0 Simicek
C1-5 S$3039 |95,0 Zavodny
44|01 C1-6 $51 95,0 Riha C34 81-25 95,0 Sltmcek :
C1-5 S$3039 |95,0 Zavodny
5 110 C2-6 ss58 94,5 Riha C4-5 S 355 95,0|HNZs3,6M Bl,ha
C3-5 S 352 95,0|u1k1ZTSMP [Riha
16.10.1 C2-6 $59 95,0 Riha C4-5 S 355 95,0|HNZzs3,6M Bl,ha
284,5 C3-5 S 352 95,0|u1k1ZTSMP |[Riha
47 |01 C1-6 S 49 94,0 Riha C34 81-25 95,0 Sltmcek :
C1-5 S$3039 [95,0 Zavodny
23.11.0 C1-6 S 67 96,0 Bulicek C3-3 $232 94,5|HuUzNTs6BMP Slme,cek
C2-4 S 180 93,5 Strnadek
19 |01 C1-6 S 69 93,5 Bulicek C3-3 S 232 94,5|HuUzNTs6BMP Slme,cek
C2-4 S 180 93,5 Strnadek
50 11.0 c1-6 |s3243 0 Vyluka Bulicek C3-5 S$3268 |96,0[HUzNTs2P SImSCEk
C1-5 $3217 |95,0 Bulicek
51 01 c1-6 |s3244 92,5 Bulicek C3-5 S$3268 | 96,0[HUzNTs2P Bullfek
C1-5 $3217 |95,0 Bulicek
95,5 Bulicek C4-5 S$3152 | 95,5|HuzTsmp Bulicek
2110 €36 |53133 C3-4 |74-15 |96,0[h3KTBMP _ [Bulicek
94,5 Bulicek C4-5 S 3152 | 95,5|HuzTsmp Bulicek
53-10.1 C3-6 |S3134 T34 [73-15 | 96,0[R3KTBMP —[Bulicek
54 01 c2-6 |s3241 95,5 Simecek C3-2 $3271 |95,5|nTbsp Slme'cek
C3-5 $32106 (93,5 Strnadek
55 10 c2-6 |s3238 95,5 Simecek C3-2 $3271 |95,5|nTbsp Slmelcek
C3-5 $32106 | 93,5 Strnadek
56.11.0 c36 | s320 94,5 Simecek C2-5 S 160 95,5|HUZNTBMP Da)/vlfjek
C4-5 83-13 94,0 Prasil
57 11.0 €36 ) 96,0 Simecek C2-5 S 160 95,5|HUZNTBMP Da)/vlfjek
C4-5 83-13 94,0 Prasil
53 |10 c3-6 |s32110 95,0 Simecek C3-2 $3271 |95,5|nTbsp %fme(v:ek
C1-5 S 47 95,5 Simecek
59 |10 c36 |s32111 95,0 Simecek C3-2 §$3271 |95,5|nTbsp %fme(v:ek
C1-5 S 47 95,5 Simecek
60 110 c3-6 |s32113 95,0 Simecek C3-2 S$3271 |95,5|nTbsp §!me(v:ek
C1-5 S47 95,5 Simecek
sucet kol. |285,0
Polacek - St ¢
61110 S1-6 5177 95,0 olace C4-3 S 210 95,5|1sbsmp Stourac
At1-k8MP S1-5 S 49 94,0|ATSkS-P Hvisc¢
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62 1.0 $1.6 S 165 93,5 Polacek C4-3 $210 95,5|1sbsmp StOﬂl’,lraC
S1-5 S49 94,0|ATSk8-P Hvisc¢
63l10 516 S 180 95,0 Polacek C1-5 S21 95,0|Hzs3mP Ko.bvzva
___KMP S1-5 [S43 94,5|ATs8-p2 Hvige
64110 516 S 182 96,0 Polacek C1-5 S21 95,0|Hzs3mP Ko.bvzva
a4TSk8-P S1-5 S43 94,5|ATs8-p2 Hvisc
65 1.0 S1-6 S 161 95,0 Polacek S1-5 S48 95,5|ATs3-P Hvisc .
ATS--P S1-5 S 70-51 | 95,5|ATs1KMP Ing. Mikula
66110 $1.6 S 67 95,5 AdT-Kmap Slebodnik [S 3-5 S 70101 Ing. Mosko
S2-4 S 281 Turek
67110 C3-6 |s34-51 95,5 A1-s8-MP Mgr.Puci [C1-5 S 3408 | 96,0|HUK2NTb3MP Slfolar :
C6-2 S 30-388| 95,5 Zavodny
01 C1-6 <24 94,5 Mgr.Puci [C2-4 S127 95,0|HzKkmP Kc’>bza :
68 _t11SK-P C24 S 30-71 | 96,0|HZKTVMP Zavodny
10 S1-6 573 93,0 Mgr.Puci S$3-5 S 70-88 | 96,0|Ats- - mp Ing. MF)sko
69 S 5-5 $61-192| 94,0 Ing. Mikula
1.0 516 S 74 95,5 A1£3t85-p Mgr.Puci [S 3-5 S 70-88 | 96,0]Ats- - mp Ing. MF)sko
70 S$5-5 $61-192| 94,0 Ing. Mikula
01 $1.6 s 75 94,5 AtL1SKMP Mgr.Puci [S 3-5 S 70-88 | 96,0]Ats- - mp Ing. MF)sko
71 S$5-5 $61-192| 94,0 Ing. Mikula
sicet kol |28%0
$3-6 575 94,5 ATKS-P Mgr.Puci [S 2-5 $222 95,0|A--- -P Ii/.lajervsky
72 (1.0 C5-5 $32-76 | 94,0 Simecek
$3-6 S 71 95,0 _t85-MP Mgr.Puci  [S 2-5 $222 95,0|A--- -P Ii/.lajervsky
73 (0.1 C5-5 $32-76 | 94,0 Simecek
$3-6 572 95,5 A15TSKm3P Mgr.Puci  [S 2-5 $222 95,0|A--- -P Ii/.lajervsky
74 (1.0 C5-5 $32-76 | 94,0 Simecek
sicet  kol. [2830
10 S1-6 S 37 95,5 8K P. Mikula |S2-5 S 148 95,0 Majersky
75 S3-4 |s364 94,0 P. Mikula
10 S1-6 S 38 95,0 Al MP P. Mikula |S 2-5 S 148 95,0 Majersky
76 S3-4 S 364 94,0 P. Mikula
$3.6 94,0 Kolesar S1-5 S 61-51 | 95,5(aaT--MP Mikula P.
77 11.0 S 255 S4-3 S 376 95,0 Kolesar
$3.6 93,5 Kolesar S1-5 S 61-51 | 95,5(aaT--MP Mikula P.
7811.0 S 256 S4-3 S 376 95,0 Kolesar
01 $3.6 S 257 95,5 A4t8S-P Kolesar S1-5 S 61-51 | 95,5(aaT--MP MlkuI? P.
79 S4-3 S 376 95,0 Kolesar
sucet kol. |283,0
95,5
80 0.1 51-6 | S116 ATSKIMP
s16 | s124 94,5 Pahuli S1-5 S$88 96,0 Pahuli
8111.0 S6-5 $69-30 | 95,5 Pahuli
94,0 Pahuli S1-5 S$88 96,0 Pahuli
S1-6 | S128
8210.1 S6-5 $69-30 | 95,5 Pahuli
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s3lo1l k| s16 | s131 95,0 ke Pahuli S1-5 S 88 96,0 Pahuli
S 6-5 S$69-30 | 95,5 Pahuli
sucet kol. 283,5
saliol J S1-6 5102 94,5 1 Matvej S1-5 $62-21 | 96,0 Matvej
S1-5 S 145 95,0 Majersky
ss o4l ) S1-6 5105 94,0 5 Matvej S1-5 $62-21 | 96,0 Matvej
S1-5 S 145 95,0 Majersky
j - - ATSKMP .Mi
36110l s1.6 | s108 95,5 3| kmp Matvej S1-5 $70-42 97,0 Ing.Mikula
C4-5 S 506 95,5 Zbranek
37110l k S1-6 S 115 94,5 4 Matvej S1-5 $62-22 | 96,0 MatveJ.
S1-5 S 267 95,0 Matvej
88|01 k| s16 | s116 5| dedodane| ~ Matvel Pl 196222 1960 Matve)
S1-5 S 267 95,0 Matvej
39 0.1 K S1-6 S 117 94,5 6| xwp Matvej S1-5 $62-22 | 96,0 MatveJ.
S1-5 S 267 95,0 Matvej
sucet kol. 0,0
01| s16 | s112 95,0 1| aaxap Matvej Cc19 S19 95,0 Kobza.
90 S1-5 $62-26 | 95,0 Matvej
01l S1-6 $123 95,0 5 | aa-sksmp Matvej S1-5 $61-96 | 94,0 Ing. M?sko
91 S1-5 S 258 95,5 Matvej
01l S1-6 $122 95,0 3 |a2t11-kMP Matvej S1-5 $61-96 | 94,0 Ing. M?sko
92 S1-5 S 258 95,5 Matvej
] 2.5 $319 4| nedodane Lesnak C1l4 S 3714 | 96,0|AT-kiomMP Zbranek
93 (0.1 $34 S99 95,5|ATSKm4P Mitra
] S1-6 507 94,5 5 Hvis¢ S 6-4 S717 96,0]|Ato-ksmp HVI.SVCV
94 1.0 S1-5 S51 95,0|At11SKMp7 [Hvisc
K S 1-6 508 95,0 6 | As3kimp Hvisc¢ S6-4 S717 96,0|At9-ksmP Hvi.svcv
95(0.1 S1-5 S51 95,0|At11SKMp7 [Hvisc
k| s16 95,0 1 Hvis¢ S6-4 S717 96,0|At9-kamp Hvig¢
96 (0.1 S09 a4-k1MP S1-5 S51 95,0|At11SKMp7 [Hvisc
K $1.6 95,0 2| aa—map Hvis¢ S6-4 S717 96,0|At9-k8MmP Hvisvcv
9710.1 S10 S1-5 S51 95,0|At11SKMp7 |Hvis¢
sucet kol. 285,0
s16 | 5253 95,5 3 | atot1zsskmap Zlacky ml.  [S3-5 S 70-85 ing.Mosko
98 (0.1] K S$3-5 S 405 Zlacky
s16 | s2524 94,0 4 Zlacky ml. S 3-5 S 70-85 mg.Mc,)sko
99 (0.1] K S 3-5 S 405 Zlacky
s16 | 5255 95,5 s Zlacky ml.  [S3-5 S 70-85 mg.Mc,)sko
100J0.1{ K A---m3P S 3-5 S 405 Zlacky
sucet kol. 285,0
S1.5 S 80 95,5 6 Klacek S1-4 S132 Zlacky.
10141.0f J a6T-k8MP S1-4 S 38 Pahuli
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102101 $1-6 s 55 95,5 1 Sliacky 4431|B555 97,0 Sc.hreder
adTSK-P S 8-4 37-41 96,0 Sliacky
103l10l 11 s16 557 96,5 5 Sliacky 4431|B555 97,0 Sc.hreder
A—P S4-4 37-36 96,0 Sliacky
104l1.0! $3.6 s58 96,0 3 Sliacky Pa,velka :
At11-KMP S$35134 (95,0 Zavodny
10sl10l k1 s3-6 | s190 93,5 4 Sliacky 4431|B555 97,0 Sc.hreder
S4-4 37-34 96,0 Sliacky
106lo1l k1 s36 | 5193 95,5 s Sliacky 4431|B555 97,0 Sc.hreder
_TSkiMP S4-4 37-34 96,0 Sliacky
10710l k| s36 | <195 95,5 6 Sliacky 4431|B555 97,0 Sc.hreder
adT--MP S4-4 37-34 96,0 Sliacky
- 284,5
sucet kol.
108l01l 11 s3.6 S18 96,0 1 Sliacky 4431|B555 97,0 Svc,hmder
C2-2 S$3538 96,0 Riha
96,0 Ing. Mikula |C1-5 S 3407 |96,0|HUZTSMP  |SkolaF
109]0.1{ J S1-6 | S100 2| _TSKmP
- S4-5 §70-155 | 95,5 Ing. Mikula
LINIA 61
110l10l k| s1-6 |se1-52 95,5 3| arskemap Mitra C2-5 |S230 95,0 Kobza :
S5-4 (S61148]95,0 Adamik
111l10l | s1-6 |se1-55 94,0 4 Mitra C2-5 |S230 95,0 Kobza :
S5-4 (S61148]95,0 Adamik
11210l k1 s1-6 ls61-56 95,0 s| aTs-mp Mitra C2-5 |S230 95,0 Kobza :
S5-4 (S61148]95,0 Adamik
- 284,5
sucet kol.
113101l k| s2-6 lse1-156 95,5 6| Ts-p Mitra C4-5 |S32141(95,0 Ser1ecek
S4-5 [S244 96,0 Mitra
11alo1l k1 s2-6 lse1-157 95,0 1| atomp Mitra C4-5 |S32141(95,0 Simedek
S4-5 (S244 96,0 Mitra
115101l k1 s2-6 lse1-160 95,5 BRI Mitra C4-5 |S32141195,0 Sln"lecek
S4-5 [S244 96,0 Mitra
sucet kol. |286,0
10l k1 s1-6 ls61-53 95,5 3 Mitra C2-5 |S230 95,0 Kobza :
116 a5---MP S5-4 |S6114895,0 Adamik
01l k| s1-6 lse151 94,5 4| ATssmap Mitra C2-5 |[S230 95,0 Kobza
117 S2-5 S61-58 Adamik
10l k1 s1-6 lse1-55 95,5 5| s p Mitra C2-5 |[S230 95,0 Kobza
118 S2-5 S61-58 Adamik
sucet kol. |285,5
95,5 Adamik S1-5 S61-91 | 96,5|A --KMP Ing. Mikula
1.0 K S2-6 |S61-167 6 |al12Tk5-MP|
119 S2-5 S 61-144| 95,5|a13T---P Adamik
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10 $2.6 |s61-169 96,0 A—KMP Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mllkula
120 S2-5 S 61-144] 95,5/a13T---P Adamik
01 $2.6 |s61-168 96,5 A4T—-MP Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mllkula
121 S2-5 S 61-144] 95,5/a13T---P Adamik
. 288,0
sucet kol.
10 $2.6 |s61-170 94,0 Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mllkula
122 25 € S2-5 S 61-144] 95,5/a13T---P Adamik
01 $2.6 |s61-173 95,0 S6T-KMP Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Ml'kula
123 25 € S2-5 S 61-144] 95,5/a13T---P Adamik
01 $2.6 |s61-172 95,0 TP Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Ml'kula
124 25 € S2-5 S 61-144] 95,5/a13T---P Adamik
. 284,0
sucet kol.
10 $3-6 |s61-184 95,0 Adamik  [S1-5 S$61-91 | 96,5(A --KmP Ing.. Mikula
125 _TS--P S$3-5 S 237 95,0|ATS-m3P  [Majersky
01 $3-6 |s61-185 95,5 Adamik S1-5 S$61-91 | 96,5|A --KMP Ing.. Mikula
126 ATS--P S$3-5 S 237 95,0|ATS-m3P  [Majersky
01 $3-6 |s61-186 96,0 ATS—MP Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mikula
127 S$3-5 S 237 95,0|ATS-m3P  [Majersky
. 286,5
sucet kol.
10 $3-6 |s61-183 95,5 Adamik  [S1-5 S$61-91 | 96,5(A --KmP Ing.. Mikula
128 AT--MP S$3-5 S 237 95,0|ATS-m3P  [Majersky
01 $3-6 |s61-187 95,0 Adamik S1-5 $61-91 | 96,5|A --KMP Ing.. Mikula
129 ATSk8-P S$3-5 S 237 95,0|ATS-m3P  |[Majersky
01 $3-6 |s61-188 95,0 A4TSKEM3P Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mikula
130 S$3-5 S 237 95,0|ATS-m3P  [Majersky
- 285,5
sucet kol.
10 $3-6 |s61-177 95,0 AS—P Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Ml'kula
131 S 4-5 S 61-193| 95,0 Adamik
01 $3-6 |s61-180 95,0 Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mllkula
132 _TS-MP S 4-5 S 61-193| 95,0 Adamik
01 $3-6 |s61-182 95,5 ATSk4-P Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mllkula
133 S 4-5 S 61-193| 95,0 Adamik
- 285,5
sucet kol.
10 516 | se1o3 95,5 ASK.P Ing. Mikula |S 1-5 S 61-88 | 96,0|_TSKMP Mikula M.
134 S1-4 [S677 96,5|A-SKMP Mikula M.
10 516 | se1ea 95 ATKLP Ing. Mikula |S 1-5 S 61-88 | 96,0 _TSKMP Mikula M.
135 S1-4 [S677 96,5|A-SKMP Mikula M.
01 s1.6 | se1os 95,5 TsdKMP Ing. Mikula |S 1-5 S 61-88 | 96,0 _TSKMP Mikula M.
136 S1-4 [S677 96,5|A-SKMP Mikula M.




- g g
g g |3 2 g
< o < -
Zls|2 8 | 3|25 2 5 2 | 8 || 3 53
o le|= < - 3 IR 5 3 o <% 3 N T <
=|5|8] ¢ > | s [g| F < 5 s |8 . o8
o |S | = o s R E o 2 o o 3 > = o
=|® |8 3 = = |® Fry 5 =3 :
< o ° g |I= = o
E a. g a-
@ 1.0 LU.[1.0 P.U.
286,5
sucet kol.
01l k 51-6 |se1100 95,0 6| ATsmp Ing. Mikula |S 1-5 S$61-88 | 96,0|_TSKMP Mikula M.
137 $3-4 S 693 95,0|AT-KMP Mikula M.
01l k $1-6 |se1101 96,0 1| Tskmp Ing. Mikula |S 1-5 S$61-88 | 96,0|_TSKMP Mikula M.
138 S3-4 S 693 95,0|AT-KMP Mikula M.
o1l k| si6 |ser102| 950 | 5 | resams| 'Me-Mikula [51-5 [561-88 |96,0] TskmP Mikula M.
139 S3-4 S 693 95,0|AT-KMP Mikula M.
285,5
sucet kol.
o1l k| si6 | seros| 955 | 3| sarscup | 'Me-Mikula [51-5  [561-88 |96,0] Tskmp Mikula M.
140 S1-5 S 70-61 | 96,5|ATS-MP Mikula M.
o1l k| si6 | seros| 960 | a| arxwe | 'me-Mikula [51-5 [561-88 |96,0] TskmPp Mikula M.
141 S1-5 S 70-61 | 96,5|ATS-MP Mikula M.
-MP i - - i .
01l k 51-6 | s61-99 955|5| _t8 Ing. Mikula |S 1-5 S$61-88 | 96,0| TSKMP Mikula M
142 S1-5 S 70-61 | 96,5|ATS-MP Mikula M.
287,0
sucet kol.
10| )| caa | sz |26 Ing. Mikula
143
10l k| s3-6 |s61-176 94,0 |1 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
144 25 € S$4-5 $61-193| 95,0 Adamik
01l k| s3-6 |s61-179 95,5 | 2| _TSkomP Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
145 30€ S$4-5 $61-193| 95,0 Adamik
01l k| s3-6 |se1-181 0,0 | 3| Vyluka Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mi,kula
146 30€ S$4-5 $61-193| 95,0 Adamik
0,0
sucet kol.
10l 11 s3-6 |s61-178 94,0 4 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mi,kula
147 S$4-5 $61-193| 95,0 Adamik
10l k| s2-6 |ser121 94,5 s Stoklasa S1-4 $61-122 | 95,0|A-s5-MP ing. Mosko
148 S$5-4 S 445 95,0 Stoklasa
- - -s5- ing. Mosk
10l k1 s2-6 |ser122 94,0 6 Stoklasa S1-4 $61-122 | 95,0|A-s5-mP ing. Mosko
149 S$5-4 S 445 95,0 Stoklasa
92,5 Stoklasa S1-4 $61-122 | 95,0|A-s5-mP ing. Mosko
1.0l K| S2-6 S29 1
150 S5-4 [S445 |95, Stoklasa
281
sucet kol.
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Lesnak Ing. Mikul
1.0] K| s2-6 |se1216] O |2| wyluka esha S1-5 |S61-92 [95,5 ne. Vi
151 S 2-5 S 319 95,0 Lesriak
95,5 Lesnak S1-5 $61-92 | 95,5 Ing. Mikula
1.0] K| S2-6 |s61-217 3 _ _swmp
152 S 2-5 S 319 95,0 Lesiidk
Lesnak S1-5 $61-92 | 95,5 Ing. Mikula
1.0l K| S2-6 |S61-218 4 | nedodané —
153 $2-5 |S319 |95,0 Lesnak
stcet kol. 0,0
10l k1 s2-6 |se1210 95,0 s wp Lesnak S1-5 $61-92 | 95,5 Ing. Mikula
154 S 2-5 S 319 95,0 Lesriak
10l k| s2-6 |ser220 93,5 6 Lesnak S1-5 $61-92 | 95,5 Ing. Mikula
155 S 2-5 S 319 95,0 Lesriak
10l k1 s2-6 |ser223 93,5 1 Lesnak S1-5 $61-92 | 95,5 Ing. Mikula
156 S 2-5 S 319 95,0 Lesriak
stcet kol. 282,0
10| 3 52.6 |se1224 0 5 | netdssitikovany Lesnak S1-5 $61-92 | 95,5 Ing. Mikula
157 S 2-5 S 319 95,0 Lesriak
o1l k| s36 |serizs 94,5 3| Tkp Ing.Skodron |S 3-5 S$61-124 _T__MP _ Stoklasa
158 S1-1 $61-18 [MSR Skodron
01l k| s36 |ser129 94,5 4| as-sskp Ing.Skodron |S 3-5 S$61-124 _T__MP _ Stoklasa
159 S1-1 $61-18 [MSR Skodron
o1l k| s36 |ser130 95,0 5 [a5-55-m3amsp Ing.Skodron |S 3-5 S61-124 _T__MP _ Stoklasa
160 S1-1 $61-18 [MSR Skodron
sicet kol |28%0
161101l k| s3-6 lse1-132 94,5 6 Ing.Skodron |S 3-5 S61-124 _T__MP _ Stoklasa
S1-1 $61-18 [MSR Skodron
162101l k| s3-6 |s61-134 93,0 1 Ing.Skodron |S 3-5 S61-124 _T__MP _ Stoklasa
S1-1 $61-18 [MSR Skodron
163101l k| s3-6 lse1-13s 94,5 5 Ing.Skodron |S 3-5 S$61-124 _T__MP _ Stoklasa
S1-1 $61-18 [MSR Skodron
sicet kol |28%0
01l 3 s36 |s61193 94,5 3| atep Ing.Mikula [S1-4 S 680 94,5 Mikula mM
164 S1-5 S6185 | 95,5]|AT--mP Mikula mM
LINIA 62
165]1.0! s1.6 |se2-07 93,0 4 Zlacky S1-4 S133 Zlacky
S1-4 S$61-05 Zlacky
16610l k| s16 |se2-0s 94,0 s Zlacky S1-4 S133 Zlacky
S1-4 S$61-05 Zlacky
167101l k| s16 |se2-09 95,5 6 Zlacky S1-4 S 133 Zlacky
AT-k1MP S1-4 S$61-05 Zlacky
i ) 94,0 Zlacky S1-4 S 133 Zlacky
168J0.1f K| S1-6 [S62-10 1 13 SE1.08 Tacky
sucet kol. |283,5]2
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95,0 _ Zlacky S1-4 S$133 Zlacky
169]1.0( J S1-6 |S62-11 3 [ Atls1s4--P ~T ~5105 ZTacky
LINIA 63
95,5 P. Mikula |[S 2-5 $70-66 | 95,5 Ing.M. Mikula
170J1.0f K| S1-6 [S63-01 Ts4-MP
asts S15 [570-35 [ 950 P. Mikula
95,5 P. Mikula |[S 2-5 $70-66 | 95,5 Ing.M. Mikula
171)J1.0f K| S1-6 [S63-02 4 a4T-K-P
a S15 [570-35 [950 P. Mikula
172101l k| s1-6 |se3-05 94,0 5 P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-5 S$70-35 | 95,0 P. Mikula
17310l k| s1-6 |s63-14 95,0 6| tiKkmp P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-5 S$70-31 | 95,5 Matvej
174]10! k1 s1-6 |se3-15 94,0 1 P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-5 S$70-31 | 95,5 Matvej
175101l k| s1-6 |s63-18 94,5 2 | a15-s5-m- P. Mikula [S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-5 S$70-31 | 95,5 Matvej
176]1.0! $1-6 |s63-03 95,0 3| Asskp P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-5 S$70-35 | 95,0 P. Mikula
177110l s1-6 |s63-09 95,0 4| Assmp P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-5 S$70-30 | 95,0 P. Mikula
178]1.0! $1-6 |s63-04 93,5 c P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M: Mikula
S1-5 S$70-30 | 95,0 P. Mikula
179l01l s1-6 |s63-21 95,0 6 | a1—s8map P. Mikula |[S 2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-3 $31-153 | 94,0 P. Mikula
180 01 J | S1-6 [S63-23( 94,01 P. Mikula |S2-5 S$70-66 | 95,5 Ing.M. Mikula
S1-3 $31-153 | 94,0 P. Mikula
i - - ATSKMP i
181101l k| s1-6 ls63-28 95,0 5 | a13Tsskamp Mgr. Puci  [S1-5 S 70-42 | 97,0|ATS Ing.M. Mikula
S1-5 $71-11 | 95,0|AT--MP mgr. Puci
i - - ATSKMP i
182101l k| s1-6 lse3-29 95,0 3| a1Tp Mgr. Puci  [S1-5 S 70-42 | 97,0|ATS Ing.M. Mikula
S1-5 s$71-11 | 95,0|AT--MP mgr. Puci
. i - - ATSKMP M. Mi
183101l k| s1-6 ls63-30 94,0 4 Mgr. Puci  [S1-5 $70-42 97,0 Ing.M l\/llkl:l|a
S1-5 S 408 95,0 mgr. Puci
sicet kol |28%0
. Mi - - ATSKMP M. Mi
18410l k1 s1-6 |s63-44 96,0 ol atskp Ing. Mikula |S 2-5 S$70-65 | 95,0 Ing.M. Mikula
S4-5 S 408 95,0 Ing.M. Mikula
. Mi - - ATSKMP M. Mi
185101l k1 s1-6 |s63-a5 94,5 6| Ats_ KmP Ing. Mikula |S 2-5 S$70-65 | 95,0 Ing.M. Mikula
S4-5 S 408 95,0 Ing.M. Mikula
. Mi - - ATSKMP M. Mi
186101l k1 s1-6 |s63-46 94,0 1 Ing. Mikula |S 2-5 S$70-65 | 95,0 Ing.M. Mikula
S4-5 S 408 95,0|AT--MP Ing.M. Mikula
sucet kol |2843
LINIA 70
95,0 KSenzakovic¢ |S 1-5 S 70-10 | 95,0|At8t10s4-MP |mgr.Puci
187)J1.0f K| S2-6 [S70-65 2 [ A-s1s8,MP
25¢€ $3-3  [77-16 [ 95.0la141s-P Nitray
94,0 KSenzakovi¢ |S 1-5 S 70-10 | 95,0|At8t10s4-MP |mgr.Puci
188J1.0l K| S2-6 |[S70-66 3 )5 ¢ 950
$3-3 77-16 "~ 1a14TS-P Nitray
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94,5 KSenzakovi¢ |S 1-5 S 70-10 | 95,0|At8t10s4-MP |mgr.Puci
189{1.0| K $2-6 [S70-67 4 | _Ts8k1im4Pp
S 3-3 77-16 95,0{a14Ts-P Nitray
. 283,5
sucet kol.
19010l k| s1-6 |s706 95,5 a1Ts8-P Mgr. Puci |C3-4 S 206 96,0{TASKMP Simedek
S1-5 $71-12 | 95,0|TA --MP Mgr. Puci
19110l k| s16 | s70-7 95,0 5 T_MP Mgr. Puci |C3-4 S 206 96,0{TASKMP Simedek
- S1-5 $71-12 | 95,0|TA --MP Mgr. Puci
192]1.0l k| s1:6 | s70-9 95,5 6l a5—mp Mgr. Puci |C3-4 S 206 96,0{TASKMP Simedek
S1-5 $71-12 | 95,0|TA --MP Mgr. Puci
. 286,
sucet kol. 86,0
193]1.0| k 50-6 | s70-15 95,0 1| t1kemp Blasko C34 S 206 Simedek
S$2-5 S$716 Blasko
194/1.0( K | so0-6 |s7016 2 |nedodane| ~ Blaske (€34 15206 oimecek
S 2-5 $716 Blasko
195]0.1| k 50-6 | s7018 95,5 3| Ats-kmp Blasko C34 S 206 Simedek
S 2-5 S$716 Blasko
0,0
sucet kol.
LINIA 71
196] 1.0l « s1-6 |s71-130 93,0 4 Zlacky ml. |S3-5 S 70-85 Mosko
S1-5 S401 Zlacky
19704/ « 516 |s71-131 0,0 5 | nekiasifikovany Zlacky ml. |S3-5 S 70-85 Mosko
S1-5 S401 Zlacky
198]0.1| Kk 516 |s71-132 94,0 6 Zlacky ml. |S3-5 S 70-85 Mosko
S1-5 S401 Zlacky
sicet  kol. | 00
19910l k1 s16 |s71-110 95,0 1| aarep Ing. Mikula |S10-2 |[S545 95,5|_T-kKmP Mikula M.
S$3-4 S 61-160| 95,5|ATSKMP Mikula M.
>00lo1l k| s16 |s71-111 96,0 2| Tskemp Ing. Mikula |S10-2 |[S545 95,5|_T-kKmP Mikula M.
S$3-4 S 61-160| 95,5|ATSKMP Mikula M.
50101l k| s16 |s71-112 95,0 3 Ing. Mikula |S10-2 |[S545 95,5|_T-kKmP Mikula M.
_TSKMP $3-4 [S61-160[ 95,5|ATSKMP Mikula M.
sicet  kol. |286,0
502101l k| s3-6 |s71-123 95,0 1| Ts1-map Ing. Mikula |S10-2 |[S545 95,5|_T-KmP Mikula M.
S1-5 S 70-52 | 96,0|AT-KMP Mikula M.
503l01l k| s36 |s71-12 95,0 AR Ing. Mikula |S10-2 |[S545 95,5|_T-KmP Mikula M.
S1-5 S 70-52 | 96,0|AT-KMP Mikula M.
) . 94,5 Ing. Mikula |S10-2 |[S545 95,5|_T-KmP Mikula M.
20410.1) K[ '53-6 | 571124 3| asr—p ST-5 S 70-5Z | 96.0[AT-KMP Mikula M.
sucet kol. |284,5
s05l10l k| s36 |s71-117 95,0 a| Tsikp Ing. Mikula |S10-2 |[S545 95,5|_T-KmP Mikula M.
C4-4 59-23 96,0|NTVMP Klejch
) i 95,5 2 Ing. Mikula |S10-2 [S545 95,5|_T-KMP Mikula M.
206/0.1| K | S3-6 |s71-118 5| _TK-P Crr o575 o o [TV ——IRIER
94,5 Ing. Mikula |[S10-2 |S545 95,5|_T-KMP Mikula M.
- $71-119 ’ =
20711.0 K| 536 °l __ kp Ca4 (5923 | 96.0[NTVMP [Kiejch
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v 2 Vi
sucet kol. 85,0
s08loal 1| s36 |s71106] 950 | 1| tegme | & Mikula [$10-2 |s545 |95,5( Tkmp Mikula M.
' ~ S5-4  [S70-31 | 94,0[HZTSb5MP  [Mikula M.
200l0.1! $1-6 |s71-107 95,5 5 Ing. Mikula |S10-2 |[S545 95,5|_T-KMP Mikula M.
ATSKMP S$5-4 S 70-31 | 94,0|HZTSb5MP |Mikula M.
= S S
o
5 s |3 g -
Slel2l 8 | 5|3 | 2 5 2 |z |2 3 53
o |2 |= < < 3 IR 3 4 o <% 3 N T <
=|zla| ® = | & B ® & & 5 |8 8. o g
< | = S s - E o 2 o o 3 ) [l -
||| 3 3 | 3 %] @ D o}
< ') o =1 h E: =
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o, o o o
o 1.0 L.U.|1.0 P.U.
210l1.0l K $1-6 |s71-134 94,0 3 Zlacky ml. |S 3-5 S 70-85 Mosko
S1-5 S$401 Zlacky
211]0.1| k | s16 [s72135| %0 | 4| arssomp | Zackyml. 1535 157085 MoSko
S1-5 S$401 Zlacky
212101l k s1-6 |s71-136 94,0 5 Zlacky ml. |S 3-5 S 70-85 Mosko
S1-5 S$401 Zlacky
. 284,5
sucet kol.
LINIA 72
S - AT-K-P jersky
513010l k| s2:6 |s72-01 95,5 6! a1kmp Ing. Mosko |S 1-5 S 146 96,0 Majersky
S$3-5 S 70-105] 95,0|At8-KMP Mosko
S - AT-K-P jersky
51410l k| s2:6 |s72-02 95,0 1| atp Ing. Mosko |S 1-5 S 146 96,0 Majersky
S$3-5 S 70-105] 95,0|At8-KMP Mosko
S - AT-K-P jersky
515101l kK | s2:6 |s72-05 95,5 5 Ing. Mosko |S 1-5 S 146 96,0 Majersky
At8S-MP S$3-5 S 70-105] 95,0|At8-KMP Mosko
- 286,0
sucet kol.
S - AT-K-P jersky
516110l kK| s2:6 |s72-13 95,0 3| aaremp Ing. Mosko |S 1-5 S 146 96,0 Majersky
S$3-5 S$70-97 | 95,0 Mosko
S - AT-K-P jersky
517110l k| s2:6 |s72-14 95,5 ol ATker Ing. Mosko |S 1-5 S 146 96,0 Majersky
S3-5 S$70-97 | 95,0 Mosko
. S - AT-K-P jersky
518101l kK | s2:6 |s72-01 95,0 s Ing. Mosko |S 1-5 S 146 96,0 Majersky
ATSk3MP S3-5 S$70-97 | 95,0 Mosko
sucet kol. 285,5
. Mos - AT-K-P jersky
519]01] $2.6 |s72-06 95,0 6 Ing. Mosko |S1-5 S 146 96,0 Majersky
karanténa S3-5 S 70-105| 95,0|At8-KMP Mosko
95,0 Ing. Mosko |S1-5 S 146 96,0|AT-K-P Majersky
220]0.1| K S$2-6 |S72-09 1
_t8-K-P S3-5 S$70-97 | 95,0 Mosko
Miadata bez linii
94,5 Kobza C24 S$30122| 95,5|HzNmP Kobza
21|10 K| €4-6 (530133 2 CZ45 [S328 |94,5 Kobza
22|01 K| C4-6 |s30134 95,0 | 3 Kobza C2'—4 539 122 ?55 HZNMP KOEEE
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2. 1.0 L.U. 1.0 P.U.
01l k| cas ls3013s 95,0 4 Kobza C24 S$30122| 95,5|Hznmp Kobza
223 C4-5 S 328 94,5 Kobza
. 284,5
sucet kol.
" ~ ) - ” ~
01 S4-6 s83 95,0 s KSenzakovi¢ |S 3 S 245 95,0]|At1s5kmp Ksenzakov!c
224 20 € S4-5 S 253 95,0 KSenzakovi¢
10l k| cas | s3a62 95,5 6 Kobza C1-5 S 3408 | 95,0{HukzmTb3mP |SkolaF
225 C4-5 S 233 95,5|HKZTVP Kobza
10l k| ca-g | s3a6a 95,5 1 Kobza C1-5 S 3408 | 95,0{HukzmTb3mP |SkolaF
226 C4-5 S 233 95,5|HKZTVP Kobza
01l k| ca-6 | 53465 94,5 5 Kobza C1-5 S 3408 | 95,0{HukzmTb3mP |SkolaF
227 C4-5 S 233 95,5|HKZTVP Kobza
. 285,5
sucet kol.
" ~ 2 ) " -
01 S4.6 S 85 92,0 3 KSenzakovi¢ |S 3 S 245 95,0|At1s5kmp Kfenzakov!c
228 20 € S4-5 S 253 95,0 K8enzakovi¢
95,0 Bulicek C3-5 S$3268 |96,0[HUzNTs2P Bulicek
1.0 C4-6 |S32116 ! 4 !
229 C1-5 $3217 |95,0 Bulicek
95,0 Bulicek C3-5 S$3268 |96,0[HUzNTs2P Bulicek
1.0 C4-6 [S32118 ! 5 !
230 C1-5 $3217 |95,0 Bulicek
,v 1- —
10l k| ss6 | s278 95,0 6 Polacek S1-5 S48 95,5|ATssmp Polz?sek
231 C3-5 $32102 | 95,0{Hk1INSP Polacek
01l k| ss6 5279 94,5 1 Polacek S1-5 S48 95,5|ATssmP Polziuv:ek
232 C3-5 $32102 | 95,0{Hk1INSP Polacek
o1l k| ss6 S 280 94,0 5 Polacek S1-5 S48 95,5|ATssmP Polziuv:ek
233 C3-5 $32102 | 95,0{Hk1INSP Polacek
sucet kol. |283,5
1ol k S5-6 S$258 | 95,0 | 3 Sliacky 4431|B555 97,0 Schreder
234] " S4-4 [37-44 |96,0 Sliacky
01l « S5-6 S$259 [ 94,5 |4 Sliacky 4431|B555 97,0 Schreder
235] S4-4 37-44 96,0 Sliacky
01l « S5-6 S260 | 95,5 |5 Sliacky 4431|B555 97,0 Schreder
236 S4-4 37-44 96,0 Sliacky
285
sucet kol.
1.0 K| S46 | S264 [ 95,0 |6 Kolesar S1-5 S 61-51 | 95,5[aa1--mP Mikula P.
237]" S4-3 [S375 |94,0 Kolesar
0.1l K| S4-6 | S265 ] 955 |1 Kolesar S1-5 S 61-51 | 95,5[aa1--mP Mikula P.
238 S4-3 S 375 94,0 Kolesar
01l k S4-6 | S266 | 95,0 5 Kolesar S1-5 S 61-51 | 95,5aa1--mP Mikula P.
239] S4-3 S 375 94,0 Kolesar
- 285,5
sucet kol.
Mladata v linii 61
10| k Sa.6 |se1-244 94,0 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
240 20 € S2-5 S 61-143( 96,0[{ATs11KMP Adamik
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10l k| sae |seraas 94,5 3 Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mikula
241 S2-5 S 61-143| 96,0|ATs11KMP Adamik
01l k| sae |ser2as 95,5 4 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
242 S2-5 S 61-143| 96,0|ATs11KMP Adamik
sucet kol. 284,0
01l k| sase |ser2ae 94,5 s Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
243 S2-5 S 61-143| 96,0|ATs11KMP Adamik
o1l k| sae |ser2s 94,5 6 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
244 S2-5 S 61-143| 96,0|ATs11KMP Adamik
01l k| sae |ser2s2 94,0 1 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
245 S2-5 S 61-143| 96,0|ATs11KMP Adamik
sucet kol. 283,0
01l 3 Sa.6 |se1-247 94,0 1 Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
246 20 € S2-5 S 61-143| 96,0|ATs11KMP Adamik
01l sa.6 |se1-250 5 | nekiasiikovany Adamik S1-5 $61-91 | 96,5|A --KMP Ing. Mikula
247 20 € S2-5 S 61-143| 96,0|ATs11KMP Adamik
01l Sa.6 |se1-26 0,0 3| Vjluka Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mikula
248 20 € S2-5 S 61-143| 96,0|ATs11KMP Adamik
10l k| sae |sei2sa 94,5 4 Klacek S 5-3 $61-151 Ing. Mosko
249 S$3-5 S 406 Zlacky
10l k| sae |serass 95,0 s Klacek S 5-3 S61-151 Ing. Mosko
250 S$3-5 S 406 Zlacky
01l k| sase |ser2se 94,5 6 Klacek S 5-3 S61-151 Ing. Mosko
251 S$3-5 S 406 Zlacky
sicet kol 2230
25210l 3 Sa.6 |se1-257 95,5 1 Klacek S 5-3 S61-151 Ing. Mosko
S$3-5 S 406 Zlacky
553]01| ) s4-6 |s61-253 94,0 5 Adamik S1-5 S$61-91 | 96,5|A --KMP Ing. Mikula
20 € S 2-5 S 61-143| 96,0|ATs11KMP Adamik
Mladata v linii 63
10l k| sae |sess 93,5 3 Mgr. Puci  [S1-5 S 70-42 | 97,0|ATSKMP Ing. Mikula
254 C1l4 S 196 95,5|Uk1ZTMP Zbranek
01l k sa-6 |se3ga 94,5 4 Mgr. Puci  |S 1-5 S$70-42 | 97,0|ATSKMP Ing. Mikula
255 Cil-4 S 196 95,5|Uk1ZTMP Zbranek
01l k sa-6 |se3ss 94,5 5 Mgr. Puci  |S 1-5 S$70-42 | 97,0|ATSKMP Ing. Mikula
256 C1l4 S 196 95,5|Uk1ZTMP Zbranek
. 282,5
sucet kol.
Mladata v linii 71
257]1.0] K S4-6 |s71-137 6 | nedodané Lesnak Ci1-4 S 37-14 | 96,0|AT-k10MP Zbranek
: 555 ST3T 950 TESNaK
25811.0| K S 4-6 S 71-138 94,0 1 Lesﬁék C1l-4 S 37-14 96,0 AT-k10MP Zbranek
: 555 ST3T 950 TESNaR
2591.0f K S4-6 |S71-139] 94,0 | 2 Lesnak C1-4 537-14 96,0|AT-k10MP Zbranek




sucet kol. |188,0
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iE - - AT-k10MP
260l1.0l K sa-6 |s71-140 95,5 3 Lesnak Cl4 $37-14 | 96,0 Zbranek
S 5-5 $431 95,0 LesAak
iE - - AT-k10MP
261110l K Sa-6 |s71-141 94,0 4 Lesnak C1l4 $37-14 | 96,0 Zbranek
S 5-5 $431 95,0 LesAak
iE - - AT-k10MP
262110l Kk Sa-6 |s71-142 94,0 5 Lesnak C1l4 $37-14 | 96,0 Zbranek
S 5-5 $431 95,0 Lesnak
sucet kol. 283,5
Lesnak Cci1-4 S 37-14 | 96,0|AT-k10MP Zbranek
263)1.0( J S4-6 S 71-143 6 nedodané S 5.5 S 431 95’0 Lesnak
264{0.1] J S1-6 [S71-133 0,0 1| Vyluka Zlacky ml.




